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Part -1 (01 -50)

is not a punctuation mark.

A) Dash B) Question mark

C) Hashtag D) Period or full point
. Fill in the blank with the correct option.

For some reason, | a change in her attitude.

A) percieved B) preceived

C) perceived D) precieved

. Choose the correct option showing the proper prefix to the highlighted word given.
Interest

A) Anti-interest B) Disinterest
C) Misinterest D) Pro-interest

. Choose the correct option to give a one-word substitution for the given sentence.
The science that deals with the production, control, transmission, reception, and effects of
sound.

A) Sound barrier B) Acoustics
C) Peripheral D) Bystander

. Choose the correct opposite meaning word for the underlined word.
| didn't know she was so learned.

A)well read B) mature

C) accomplished D) ignorant

. Fill in the blanks with the correct idioms or phrases in the options.
I've been practicing for months for the dance competition, so I'm hoping to:

A) Hit the ground running B) A rough ride
C) Be a dark horse D) Have a lot on my plate

. Fill in the blank with the correct option.

During the war, our soldiers will the enemy and secure our land.
A) annilate B) annelate
C) annahilate D) annihilate
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8. Fill in the blank with an appropriate relative pronoun.

The companies, are under the scanner of investigation will have to prove their
innocence.
A)when B) how
C)who D) that
9. Choose the option to fill in the correct articles to the sentence.
old, injured man went to police station to file report about his
accident.
A)The, a, an B) An, the, a
C) An, the, the D) The, an, the

10.Choose the synonym to the given highlighted word.

Pester
A) Funny B) Crazy
C) Sorrowful D) Trouble

11.7ee I3TR 1 7o T o fapar ar e /

Project Tiger was formed in which year?

A) 1987 B) 1973
C) 1985 D) 1982

12. g @ Wl 31 U fAfd § TTgt §i darR gt & faR feu sma g1/ is a wheat
cultivation method where the seeds are scattered in the prepared soil.
A) IR faf¥ / Broadcasting method B) feafds fafer / Dibbling method
¢) fefd faf¥r / Drilling method D)fgu fafd / Drip method

13. Yore H fRq Rie °ret &1 v ™S gl /

is an Indus Valley site located in Punjab.

A)ﬂus/ Ropar B) IYS / Lothal
C)Picarsh / Kot Dji D)IR®BIAST / Surkotada

14. IRERIE B g 9 I i ST ST 8 / Barasingha is also known as:
A)STH / Tiger B) 814 / Elephant
C)ﬁmﬁm/ Swamp Deer D)?a?/ Lion

15. HRd H IR Haied AR M g: /
The second highest civilian honour in India is:
A) HRd ¥d / Bharat Ratna B) Usl HYUT / Padma Bhushan
C) UsT fdYmUT / Padma Vibhushan D)UsT 4t / Padma Shri
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16.fFofofad & § HF-91 WM WTEH MdH S5 61 SFHIH 82 /
Which of the following places is the birthplace of Lord Gautam Buddha?

A) G ([AUT®) / Lumbini (Nepal)

B) AT (fSER, YRd) / Bodh Gaya (Bihar, India)

C) ARAY (B?l?‘ilé’ﬂ YHRd) / Sarnath (Uttar Pradesh, India)
D)W (G?Rm HRd) / Kushinagar (Uttar Pradesh, India)

17. Fofofed o 9 {69 o™ 921 & SRIUe & =0 H SHET Srar A1? /
Who among the following was known as the founder of Slave Dynasty?
A) BT3EH @Sl / Ala-ud-din Khilji
B) WW/ Nasir-ud-din Mahmud
C) MY 3I&-411 SeddT / Shams-ud-din Iltutmish
D) $qde ¥§® / Qutub-ud-din Aibak

18. FAR W w At gRT famifd qae ergrey serur o HTIE B!/

The book ‘Timeless Laxman’ released by our Prime Minister Modi consists of

A) 3R, >, Emaﬁﬂ$lﬂ3ﬁ/ short stories of R. K. Laxman

B) 3R, &. TEHUI B! IddlSfl / R. K. Laxman's poetry

C) 3R. . E&QUTQ'TWGW@/ award winning novels of R. K. Laxman

D) f&fSies witle # 3R, . 6%%3@"@7{/ R. K. Laxman'’s cartoon in digital format

19. YR 3R I & S Bt G @ d Wi dpgromargl /

The boundary line between India and Afghanistan is also known:

A)GYS ¥WT / Durand Line B) YSfd@ Tt XM / Radcliffe Line
C) A HIE @I / McMahon Line D) R hidh JWT / Sir Creek Line

20. 1R SfepTeH REBR fara-t vt & IHT Tvadl a1 /| Bl J-IdT &dl 82 / The
Sahitya Akademi Award recognizes writers of outstanding merit in how many languages?
A)15 B) 20
Q)24 D)29

21. R & TS et H TEST B U HH ¢ | daduR TTed YIS @ ugaH d | /
The series given below contains a sequence of numbers.
Accordingly identify the INCORRECT combination.
3,6,18,72, 350

A)18 B) 72
Q6 D) 350
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22.U% el &1 T3 § o U Ue 81 98 el fased g off el &1 T HAM/ A series

is given with one term missing. Choose the CORRECT option that will complete the series.
LMN, NPP, PSR, ?

A) QRS B) RQT
C) PQR D)RVT

23.T%h ARgd B & 'TRUCK' BT '4279#' f5a1 \ITdT § 3R 'BREAK' 1 '3258#" fo5ar ST g,
I HIS H 'TRACK' &I T f5aT SITWT? / In a certain code ‘TRUCK' is written as '4279#'
and '‘BREAK’ is written as '3258#', then how the 'TRACK' is written in that code?

A) 25794 B) 4289#
C)3279# D) 4258#

24, 35T 3R IR B ST T SIATd HHT: 15: 17 €1 6 891G, 3T HT 3IATd 9 : 10 BT 6
9 §1g I B &MW@Tﬁ? / The age of Ranjana and Rakhi are in the ratio of 15: 17,
respectively. After 6 years, the ratio between the ages would be 9 : 10. What will be the
age of Ranjana after 6 years?

A)34 T / 34 years B) 36 A¥ / 36 years
)40 a'sf/ 40 years D)30 G'Ef/ 30 years

25.9f¢ T GHMER 2 50 B U gD 99 WR 2 10 BT B1H UK HRal 6, Al AIcgd I Hd
110_'\‘1%: / If a shopkeeper gains ¥ 10 by selling a notebook for ¥ 50, then the cost price
of the notebook is:

A)X 60 B)% 30
0gx 20 D)z 40

26. FEfRId & -1 31&R W 82/ What is the missing letter?

X|C|=m|O|—
nio|Z|(—-|o
Z|-|o|o|>»
N|S |40~

AN B) I
qQu D)T

27.T% BT B 3 DTS BT I 43 T3, 56 T SIR 66 o Tt fovam T g1 et it
B3 BT 3Nd aoi {187 / The body weight of 3 girl students in a class is recorded
as 43 kg, 56 kg, and 66 kg. What is the average body weight of all three girl students?

A) 50 T / 50 kg B) 52 {31/ 52 kg
)55 fI / 55 kg D) 56 fhUT / 56 kg
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28. = &1 T2 @1 H TSN BT U HH g | daIuR T SAIeH &1 ugaH Hl /
The series given below contains a sequence of numbers. Accordingly identify the
INCORRECT combination.

25, 23, 20, 16, 10, 5

A)10 B)5
)20 D) 25

203 WM 2:3F 7 g1 afg ugd # ¥ 2 "ot far oy 3k g # 2 Sirs fear o,
SIUId 1: 2 B Il ¢ | =af &7 AT 8: / Two numbers are in the ratio 2 : 3. If 2 i
subtracted from the first and 2 is added to the second, the ratio becomes 1: 2.

The sum of the numbers is:
A)30 B) 28
Q)24 D)10

30.Wﬁ€ ? P R RS- HER 3ATUT? / Which letter replaces the question mark(?)
AU B) R

ov D)Y

3. T FAREd PIS H5778 668 7F TUR WM SHBISH7543 B AT
%@TGIQ‘ ? /In a certain code, 57 7 8 is written as 6 6 8 7. How will 7 5 4 3 be written
in the same code?

A)4582 B)g254
C)8452 D)5842

32. &Y T R BR 1,20,000 ¥ H VRIGAT § AR IHB! IRFI TR 30,000 IUF T Bl
21 3¢ 98 HR &1 1,80,000 YA & 7l §, @l IUHT 1Y Hfazrd g1/

Subodh buys an old car for Rs. 1,20,000 and spends Rs. 30,000 on its repairs. If he sells
the car for Rs. 1,80,000, his gain percent is .

A)20% B) 15%
) 10% D)5%

33. 3, WA 3R NS B 3T BT SUIT HH: 4 : 7 : 8 7| TS TR SR 1fNSF T 31y
& oI HT 3R 12 T8 g, A TR 3R WA B 31 & od FT 3R fbd1 82 / The ratio

between the ages of Suresh, Parveen, and Abhishek is 4 : 7 : 8 respectively. If the
difference between the ages of Parveen and Abhishek is 12 years then, what is the
difference between the ages of Suresh and Parveen?

A)43 T /43 years B) 45 A / 45 years
Q)46 Iy / 46 years D)36 ?ﬁf/ 36 years
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34. Frafefaa Semsit & g &1 3iad AF 1 S| /

Find the average of the following set of numbers.
93, 17, 75, 45, 95.

A) 64 B) 63
Q)65 D) 66

35.9f¢7:a::28:40% M a fhad RISR 82 /1f 7: 2 28: 40, then ais equal to:

A8 B)9
Q)10 D) 11
36.557 H HaAfRYd DT

1.9 2. 7ided 3. 3R&U 4. Hie BT SUS /

Arrange the sequence.

1. Travel 2. Destination 3. Reservation 4. Availability of seat
M1,23,4 B)2, 4,31
03,412 D)1,4,3,2

37.3fe 3iftra faig &1 1S ©: fig Ao &t 981 ©; 3R a1 i &1 fan &, o i oiftra @ v
UHR Gaidd ? / If Amit is the brother of Bindu; Bindu is the sister of Chetan; and Chetan
is the father of Seema, how Seema is related to Amit?

A) ll?ﬂﬁﬁ/ Niece B) dg- / Sister
C)Hl / Mother D) 3ffct / Aunt

38. PR H ford fa & 910 e derSmaT 82 /

Which day in the calendar is called the Children’s Day?

A) 1 SFERT / 1% January B) 15 3R / 15" August
C) 14 FdsR / 14" November D) 25 f&&eR / 25% December

39,7 AU U 51 7 T 31&R o & | 7Tod 31&R $ Ugda™ Hiferd| /
In the below sequence, one of the letters is wrong. Identify the mistake.
A CEG JK MO

AC B)M
OK D)J

40.24 & RIS BT 3 (GG & d1G &F 3| dh AfAhied) F18? /
What is average of factors of 24 (rounded to two digits after decimal)?

A)7.50 B) 4.28
C€)5.00 D)4.85
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41, 3USH JUHTST HH & YR R FHfGRIT 31&R 4@oT 8 U= g (7) & RIF TR 7 32 /
What should come in the place of question mark (?) in the following letter series based

on the English alphabetical order?
JF,MAMJI?

A)S B) O
OA D)N

42.20 T, 1991, ® §YIR TSI §, 20 A, 1992 Bl HIF 1 a7 U2 /
On March 20, 1991, Wednesday falls, what was the day on March 20, 19927

A) T¥AR / Thursday B) HT®AR / Tuesday

C) [P AR / Friday D) AR / Saturday
43.999 6 UTghd Tt T 3ira gaTgl/

The average of the first 6 natural number is

A)3.5 B) 5.5

025 D)4.5

44.feu M wﬁwﬁwwml / Find the missing number in the given sequence.
2,12, 36, 80, 150, ?

A)220 B) 252

C)212 D) 248
45.&&?@@%%@ / Complete the sequence.

W, T,Q,N,?

Al B) K

OH D)G
46.fawm |

far; =t ; = ; 3-I'I'$c /

Choose the ODD one out.
Father ; Mother ; Friend ; Brother

A)HT / Mother B) fUdT / Father
C) TS / Brother D)f¥ / Friend

47311, fapH Pt 9 |1 |G, I3 o1 ST g | afe [, Y2 &1 ufd § @ /Mg, fawa &1

gl/ Diya is the daughter of Vikram. Manav is the son of Reshma. If Vikram is the

husband of Reshma, then Manav is the of Vikram.
A)ﬁ?ﬂ / father B) aET/ son
C)@I?lT/ grandson D)dIdTI / uncle
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48. 914 IR T & [T 2eg] DI TIH AT HITorg | /

Arrange the information in logical manner.

painter / brother / good / my / is

A) Is my brother good painter
B) Painter is good my brother
C) Good painter is my brother
D) My brother is good painter

49.fawm |
o ; Adhgl; B! ; Bt /
Find the ODD one out.
Dog ; Spider ; Fox ; Elephant

A)BTHST / Fox
C)Hds! / Spider

B) ®<1/ Dog
D) gt/ Elephant

50.7fe BT 368451729 & 3fchi 1 3RIGI shH H Y fobal A, i fobe siep ot fRUfd
A g2 / If the digits in the number 368451729 are arranged in ascending order, the
position of how many digits shall remain the same?

AT/ Three
Q)al/ Two

B) UTd / Five
D)Ud / One
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Part - 11 (51 -150)
51.7d-f3o T MU ¢ & fou SR &1 997 B THT, BE F MR & foU g o9 w1 82

/ When selecting a reamer for a pre-drilled hole, what is the general rule for hole size?

A) IR I S GHH HIPR / Same size as reamer diameter

B) IR T § UreT 9&1 / Slightly larger than reamer diameter
O AN T 2ﬁ3T BT/ Slightly smaller than reamer diameter
D) Ife YR A § T B BT AHMHR AR Y el /

Hole size doesn't matter if the reamer is sharp

52. I TS H3R g T iy o1t &, 5= Sexzre sorg f3foizm Rew (1ADS)
ERT 2000 $RG&T & =U H 1 fovar war 8, Fafefad & 9 frw a0 @ Sleia g 3 st
St 82 / Aluminium age hard enabled alloys designated as 2000 series by the
International Alloy Designation System (IADS) is also popularly known by which of the
following names?

A) Bfeay / Magnalium B) SRIGMA / Duralumin
) RiafA / Silumin D) IR®-TIHIIH / Beryl-aluminium

53. 9% SR &1 WRR JuiTT wger & fou, Fafelaa d I safi &1 s -aaM (1/d)
ﬁWW@Wﬂﬂ%’W / For a journal bearing to be termed a square bearing, which of the
following should be the length-to-diameter (I/d) ratio of the bearing?

A) (I/d) < 0.5 B) (I/d) <1
C) (/d)y =1 D) (I/d) > 1

54. FofeRad § ¥ S 1 TP €6 S13d 87 / Which one of the following is a rigid drive?

A) ST $T34 / Belt drive B) @ $18d / Chain drive
C)ﬁtrssa/ Rope drive D)ﬁlﬂ?@%‘d/ Gear drive

55.3f1¢ AT® & B H JANT fbT S a1 fafte GR & Lo # 9 501 g1 Wb [9R1Y ¥ 4
TEHE! ¥ 1 TP FREWTEA BieR T 2 3R g 5 IRy srgyriii & fou wedt Iuged 37 /
Among the various types of stakes used in sheet metal work, the blow horn stake is

particularly versatile. What is its design features, and what specific applications is it best
suited for?

A) HIgH & U IH® Ad8 / Flat surface for bending

B) TR S 3R Rafe & fou B 3R F8 ud® I/ Short and long tapered horns for

forming and riveting
C) faRIY =0 ¥ u1g e & f&TU / Exclusively for cutting metal
D) HI0T &I ATGH & o fSeie favar mar / Designed for measuring angles
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56. TegHITH 3R To & fou Fafofed 3 3 19 91 Hy I A8l 87 /

Which of the following is NOT TRUE for aluminium and steel?

A) TegHifan &1 ARy o, W&o 3 i giar gl /

Aluminium has higher specific gravity than steel

B) Tt aro! uRfRUfaal & TegHifom, Wie &t go-1 & dgdR H&RUI UfeRiY Uefid Bl |

/ Aluminium exhibits better corrosion resistance than steel in humid conditions

C) TegHi ey &1 S I el T I dgaR gl ] 1 /

Aluminium has better thermal conductivity than steel

D) TegHif e @t HiiesRur &, Wi d Sgar g1 /

Aluminium has better machinability than steel

57.f3% e o UEE TR R1SA) THY, 3¥aH Uz & foU ugt Sfiifa §HIe 3@ T 3aza ]
e i 3o RISt g &) U1Es Ha o fobT e a1l R faaR &A1 =nfee, ek @
%ﬁmmﬁﬁumﬁﬁmﬁ%? / When grinding a drill bit, it is essential to maintain

the correct geometry for optimal performance. What are the key angles to consider when
grinding a standard twist drill, and how do they affect the drilling process?

A) BT SIS, Sl G&fdT SR &g Fafor ) guifad el 6 /
Length only, affecting efficiency and chip formation
B) Pa® od1d, Wil Gafdl 3R forg Fafur Y ywifad = g /
Diameter only, affecting efficiency and chip formation
C) Haw f3ig HI0T, ot gerdr 3R fg Fmfor o meifad a8 /
Point angle only, affecting efficiency and chip formation
D) fou, FSTRT iR faig w1ur, St gerar SR fyo fafor & ywfad sa g /

Lip, clearance, and point angles, affecting efficiency and chip formation

58.Udh WA IR-SIS 1S TP P SIde] B! GRS B g 9 & F HH-I1 T Ugd
faaruftg fig 82 / Which of the following is a key consideration when adjusting the jaws
of an independent four-jaw chuck?

A) TES| DI DT MYHIH &Fd aP HY /
Tighten jaws to their maximum capacity

B) STTd 41Ul & fOU TP Sldg B! Wad 7 I JHEIT B3 /
Adjust each jaw independently for proper centering

C) Igod & ot 4l &1 We &l IR-aR YA /
Rotate the back plate frequently for balance

D) UdS IUANT ¥ Uge b Dl [qoTd | | DY /

Clean the chuck with solvents before each use

59. T 3G dshl B Ble & [T fbd UBR & Ry o1 IuaT fovar Sar 82 /

Which type of snip is used for cutting tight inside curves?

A)@A_C’%I'GH / Straight snips

B) 3thdic 9™ / Offset snips

C) HUSS Blave R / Compound leverage snips
D)Qﬁ@? e / Aviation snips
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60. XSS AEH IR B go- H af-aR AIgh e BT IYANT S &I T BTH 872 /

What is the advantage of using a vernier micrometre over a standard micrometre?

A) a'ﬁ‘"rwnsﬁtﬁam SUINT HIAT AT % / Vernier micrometres are easier to use
B) IR A HIHeR tlﬁ'{l?;{ JfET A 8 / Vernier micrometres give precise readings
Q) Wﬂﬁﬁtﬁa 3P fedra Eﬁ?f%’/ Vernier micrometres are more durable
D)'q'f?ﬁ?R Iﬂ%ﬁ'ﬁﬁa CRIGIRSE % / Vernier micrometres are cheaper to make

61.TRTG Q1Y) T2 BT HH-TT Uch TYU1 AN & [o¥ UTufies T iR TG0 UeH odl §
3R w1 & Tt ﬁﬁ%ﬁm 87 / Which component of a lathe machine provides

the primary support and alignment for the entire machine and ensures accuracy in
machining?

A)SE /Bed B) COXI® / Tailstock
C)W / Carriage D)%@E’Vﬁ/ Headstock

62.55d 3R FSTST (ATARUN) AT & T THIa: fhd UhR &1 S 2fte &1 Iy fasan

SIdT 82 / Which type of coated sheet is commonly used for roofing and cladding
applications?

A) STGHITH / Aluminium
B) WeY WIS / Stainless steel

C) T3 SS (SRAgd) ¥Io / Galvanized steel
D)f-wes € / Tin-plated steel

63. U TR7R1 IS o (6T ST (ITEh) BT IUANT B GHY, IUTUA B! Ulha1 & JHI
?%WW%WWWW%/When using slings to lift heavy

machinery, what is a crucial factor to ensure safety during the lifting process?

INECaEul Sling colour

B) &7 &1 FaTs / Sling length

C) o7 Bt e 3iR fAteqor / Sling capacity and inspection
D) &7 &1 §1€ / Sling brand

64.HIcY 3T WIS SR qifdd sf3cye s & Ty foRet &7 SR FHiRd B 31 A= fafy
EP:IT%? / What is the standard method to determine the size of a pulley with the motor
speed and desired output speed?

A) STfAT MU & AT & STYR WR / Based on the diameter of the driving shaft
B) ST P HR IR IR B HIYR TR / Based on the load and material of the belt
C) Hiex & TS 3R IJUHRUT & WS ST & YR TR /

Based on motor speed and equipment speed ratio
D) TleR Zfad 3R el @@ 3myul) & ST & SMUR TR /

Based on the ratio of motor power to torque
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65. HUIST Y, FUae™ & U Sazgs 1 30T S /g g - 38 o1 SUTNT HRal 82 /

What is the main fuel a cupola furnace uses to generate the necessary heat for melting?

A)BI® / Coke B) @l / Wood
C) FH Sl BT BB / Charcoal D) UTg e T / Natural gas

66. 99 UH U I T - 3R I & T geh 1 g, TUT SHHT Y ToH1d
1 8? / What are the main components of the most widely used lead-based solder, and
what is its typical melting point?

A fea 3R qfET, ST 217°C R fYg@d 8 / Tin and copper, melting at about 217°C
B) fe=1 3fR ¥, 180°C $iR 190°C & &g fUa®d § /

Tin and lead, melting between 180°C and 190°C
C) didt 3R T, ST 900°C R U@ § / Silver and gold, melting at around 900°C
D) S 3R T, STHT 660°C TR fUaed & /

Zinc and aluminium, melting at approximately 660°C

67. IS FTUGRU HIfeT (GhIHe-3NMYRG) & IR # FHafelad # 9 o 91 Huq I 81

%? / Which of the following statements about chemical conversion coatings (chromate-
based) is NOT TRUE?

A) HIHT DI SRTYRUN 7Y T I TRl UfeRIe U HRAT ] 1 /

Chromate coatings impart exceptionally high corrosion resistance.
B) ShIHC BIf¢Td Ue, INH T 30 BHeHa -1 & [T Ueh deH IRd & & § BRI Heall

&1/ Chromate coatings act as a bonding layer for paints, lacquers, or other organic
finishes.

C) TTE DI T a1 H el § ol e P fAfRy W UegH eR It g | /
Chromate coatings can provide specific colours to coats when the coating is in soft
condition.

D)hiHe aﬁﬁmwﬁﬁ%ﬁ?ﬁo‘m% / Chromate coatings are sacrificial in nature.

68. 911 3R TS Wi TRTIHD Uedh! &l g1 & foU {5y UBR &1 Ire] Bred Lo gad

G'trg,a%r%? / Which type of plain carbon steel is most suitable for making structural
components like beams and girders?

A)31: SR YT / Tool steel B) ﬁgwmﬂ/ Low-carbon steel
C) 3 P61 W / High-carbon steel D) HEH HTe- W / Medium-carbon steel

69.for aRkeza T 815 WS WIS (HSS) T &1 GO H 619 BIa1Ss HicT ¢o DI UTdfHdmar ot
SITEN? / In what scenario would a solid carbide cutting tool be preferred over a High-
Speed Steel (HSS) tool?

A) S 16 R RY A HleAT / Cutting softer materials at low speeds

B) S-AT® & AT HIcT 3R Uﬁ'ﬂ?‘xﬂT / High-speed cutting and precision
Q) HTAG-YATSH efH (§hT) TP / General-purpose turning operations
D) Gdhal Il WIRed It ot TRAFT / Machining wood or plastic materials
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70.150 fR@UM HR Y 10 Hiex Bl SIS db IoM & U frar T wrd g 8- /

The work done to lift a load of 150 kg to a height of 10 meters is:

A) 14,700 S[& / 14,700 J B) 24,700 [ / 24,700 J
C) 34,700 [ / 34,700 J D) 44,700 & / 44,700 )

71. RA A ST T I ST A A 82 /
What is the name of the instrument depicted in the figure?

A)¥h U 19 / Screw pitch gauge
B) HI3CHIgS Iﬂ%ﬁ'ﬁﬂ?{/Outside micrometre

C) ¥h D) Iﬂ%ﬁjﬂﬂ / Screw thread micrometre
D)¥p IS BIGWR TS / Screw thread caliper gauge

72. 09 af@T A, WW%W%WHﬁWWMWW7 / In gas welding,
what is an essential precaution to take regarding the handling of gas cylinders?
A)WWﬁ?ﬁ?ﬁW@@g% / Leave cylinders open when not in use
B) AfeE™ & fow fopelt ot bR & T Rids 1 Swam e /

Use any type of gas cylinder for welding
C) fa1 Tt Fraerit & Ridel I R &b R W /

Store cylinders indoors without any precautions

D) RSt & e T SR T 4 R T /

Secure cylinders upright and away from heat

73. FAfoRId # 9 BH W@ FRUe =1 31 S| ST 62 /
Which of the following is the Sl unit of absolute viscosity?
A)Nm?/s B) Ns/m?
C)Ns/m D)Nm/s

74. NS AT & To &1 o1 H TegH-aH BT ITIRT & &1 UHe a1y g § 9
HIF-1 8?2 / Which of the following is a primary advantage of using aluminium over steel
in industrial applications?

A)PH YR / Lower weight

B) JgdR ARGl / Better machinability

O 3 HemRor Qﬁlﬁ‘&[/ Greater corrosion resistance
D) 3= dR d-- A / Higher tensile strength
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75. YIS TS IR 3R IHAS & dec & [OT AUD ©U J ST fFTIH IS TS H A TS §,
Fﬂﬂé@ﬁﬁgﬁaﬁmaﬁwmmfﬁ?ﬁ%7 / Cemented joint is one of the

widely used joints for rubber and leather belts, what percentage strength of the belt
material does the cemented joint possess?

A)80 - 85% d® / Up to 80 - 85% B) 20 - 25% d& / Up to 20 - 25%
C)40 - 50% d& / Up to 40 - 50% D)30 - 40% do / Up to 30 - 40%

76.19 BT HH-T1 ureH 39 faggd IRI & VAN & fou afis Iugad a1 82 /
Which property of copper makes it highly suitable for electrical wiring applications?
A) 9 9@ / Low density
B) 3= I+ WX / High tensile strength
C) 3o HeRUT ufeRIe / High corrosion resistance
D)WWW/ High electrical conductivity

77. SR SR & "eToy (e 2ss &1 a1 3 87/

What does the term "tolerance" refer to in engineering drawings?
A) fit 1T & foT sirardl &t Wi A /

The acceptable range of dimensions for a part
B) JQEf HT T HIS / The colour code of the material

¢) fafmafor & o sazae® THT / The time required for manufacturing
D)WWGﬁﬁm / The thickness of the drawing lines

78. 70 & 9 HH-3t TR BT IUANT I YR & a1 FHafor wrd B fosar e s gy
IGESIRY (EPFEFWUD P IR aTﬁ? / Which of the following ropes would most likely be
used in a high-load capacity erection job requiring minimal elongation?

A)?ﬂ??@ﬁ / Wire rope B) WW/ Sisal rope
C) G111 / Manila rope D) IS I8 / Nylon rope

79.799 T Q@ o1-3 iR &) Tare & T dee B YA T ST B B SAFAR o1 & fou
SSIER fa1 a1 82 / Which of the following pulleys is designed to allow the belt to be
tightened or loosened during operation?

A) 3 ferRAT / Solid pulley B) fauTfora foR=1t / Split pulley
C) GId foRAT / Loose pulley D)Siep! feRAT / Jockey pulley

80.F9 7 ¥ g TR 3R 12l R & offa Urufiies 3faR HH-TT]? / Which of the following is

the primary difference between a hand reamer and a machine reamer?

A)%@ﬂﬂ?ﬁﬁ?ﬂw@ﬁ%/ Hand reamers have a longer body

B) T2 SR BT ITANT g1 | {3541 ST 8 / Machine reamers are used manually
Q) 28 IR H iR A BIaT 8 / Hand reamers have a square shank
D)meﬁaﬁaﬁ%‘/ Machine reamers are made of carbide
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81.59 Wed HI USRI & ¥ DIF-T1 0o 59 §RT ISP TSR T IUD! TRl Bt ATde T
DI TG0 & [T UK 3MaRes T80T UfaRIY 82 / Which of the following properties of the
liquid lubricant is an internal frictional resistance offered by a fluid to change its shape or
relative motion of its layers?

A) T (ﬁﬁﬁﬁlﬂ) / Viscosity B) adld (QTR) / Pressure
C) g (SRI) / Density D) U (FBTRERITY) / Elasticity

82. Tt 41t AT B Bl RS B A UGS $© AaUA! SRl =feT | Afes T (& H 4
W%ﬁ@ﬁ@%ﬁﬁﬂmﬁ? / Before starting any welding operation,

certain precautions must be taken. Which of the following actions should be performed
before beginning to weld?

A) @&nuﬂﬂﬁmﬁ 3G / Ignore safety protocols

B) forddt oft Iues afcd™T € BT IUTANT / Use any available welding rod

Q) Wﬁmmﬁméﬁsﬂwaﬁ / Start welding without checking equipment
D) JUPRUN BT FRT&01 Y SR a2l Uerdl &1 gerd /

Inspect equipment and clear flammable materials

83.21 UTd Wie! &1 U 1Y JRAd T 4 Rae HRA &t 7 Ufehan 71 8, iR 39 ufesar &
M TS IUBRUT 6T BT HT 82/ What is the standard procedure for securely riveting
two metal plates together, and what is the function of each tool involved in this process?

A) %rrqaﬁ@e‘rﬁm% G%é'c—sﬁ @Tﬁﬂﬁ%ﬁ'm/ Cut the metal plates, weld them,
and then apply the rivet

B) e Wel R qgéﬁa T, G%GIEI% ﬁ?ﬁﬁﬁ%ﬁ’m / Apply adhesive to bond
plates, clamp them, and then apply the rivet

O wiel & &g %, Radey & T oY, R 37 QR FRA & forg g4t @M / Drill holes in
plates, apply heat to rivets, then hammer them to secure

D)Wic! # Bal I WRId 3, Rde ST, YT B & e Siaft 3R HU BT IudRT HY, 3R
CANEASISEARE R ER Y

Align holes in plates, insert rivet, use dolly and snap to set, and inspect the rivet joint

84. Tt fa=IW STV & foT a12R &1 997 axd THd ARy U ¥ 3P SMHR B T0HT vy
! S 82 / How s the size of a washer typically calculated when selecting it for a
particular application?

A) U9 T T 3R Il ot IﬁE'I'S.c / Diameter of the screw and thickness of the material
B) A1ZR &1 T8<! Y 3IR & BT AR o /

Outer diameter of the washer and inner diameter of the hole
C) YR &HdT 3R gl Pt dTehd / Load capacity and material strength
DEREREISEE] PO FaT8 / Total length of the fastening assembly
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85.T% W IR-IES IS TP & [UDe! We W fPY T AT BT I3 R eI 82 /
What is the purpose of the adjustments made on the back plate of an independent four-
jaw chuck?

A) TIFS B GaTs 6o & foU / To change the jaw length

B) Ris® (‘{lﬁ) & Iy WRRIT B & U / To align with the spindle
Q) WTWﬁWﬁHW%W/ To adjust clamping force
D)@ﬁﬁﬂ%ﬁﬁﬁﬁﬁe{%m/ To control rotation speed

86. SATYDTRT TS SHTERA T T 8- aToT e T 10 J1eqH R 57 /

What is the most common heating medium used in most soldering irons?

A)weﬁa/ Ceramic Heaters

B) WWW / Electric Heating Elements
@) A9-a1fed AU / Gas-Powered Heating

D)WRUI AU / Induction Heating

87. HH-TT IUTT (IS TR IUDRU JHRI: HRI JHH I & T IuTT fovar Sirar 8
3R 398 TP $H & IRI 3R TH 39 a1 TR 3US 8l 82 / Which lifting appliance is

commonly used for heavy lifting and consists of a chain or rope wound around a drum?

A BIZE / Hoist B) o1 / Crane
C) BIBIOUE / Forklift D)Ya! / Pulley

88. fdad TSl &1 IUANT Teh W IR-SFS I TP & WA 3R ey Pl fbg YR
JUTfAd HRaT 82 / How does the use of reversible jaws affect the maintenance and
longevity of an independent four-jaw chuck?

A) AR 3P IWRETd Bl W@?ﬁ%/ Requires more frequent maintenance
B) Joh e |IE Ue- IR cldig eIl § /
Extends longevity by providing alternative surfaces

C) UFIRITIT ) HH FHRop I[IWTT B! YRS 1T § /
Simplifies maintenance by reducing replacements

D)mmqulﬂaqﬁ/ No significant impact on longevity

89.U% dB-IHR ¢ P ST 3 Hiex 3R MR BT 1.5 HeR 1 F &1 $o YSIT &IHS il
fiex o fparg? /A cylindrical tank has a height of 3 meters and a base radius of
1.5 meters. What is the total surface area of the tank in square meters?

A)28.3 97 HieX / 28.3 m? B) 33.0 97 Hiex / 33.0 m?
Q) 42.4 T HICI / 42.4 m? D)47.4 I HeX / 47.4 m?
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90.33fded 3R 719 AT & QR & T $o T ard Bidl §1 oo AT & fou Bt
Wﬁ?&ﬂ HIGYTt sSR! AM8T? / Electric and gas welding each have specific safety

considerations. What is a critical safety precaution specific to electric welding?

A) T R BT ST HY / Use a gas mask

SE WWWU@%T / Always wear sunglasses

Q) i} ufefRufoal & o & / Work in wet conditions

D) 72 & Iferd Ardfe (ﬂﬁﬂéﬂ) ﬁﬁ%ﬁﬁ/ Ensure proper machine grounding

91.7M® H s & foT Ima: foog Irht &1 IuaiT fesar srar g2 /

In a trammel, what material is commonly used for the rod?

A)FPHS! / Wood B) WIRC® / Plastic
C)XdS / Rubber D) YTq / Metal

92.%flc Aed & B H, Fobl IR PR a7 b (AT W IR JUDBRUI § | We b1 UIYfHeh
Rt o €, 3R d Iad AR o} SrgufRufa F o1g BT 3MHR 37 | HY HE HRd 87 /
In sheet metal work, stakes are essential tools for bending and forming. What are the

primary characteristics of stakes, and how do they facilitate metal shaping in the absence
of advanced machinery?

A) B @I T 94 8id 8, S8 9 geb 3R THTH H 3 81d 8 / Stakes are made of

plastic, making them lightweight and easy to handle

B) W %1 IUAIT faRy &0 § o1 1 fie Bl 3MHR T dHle & fore fosan Jer & / Stakes

are used exclusively for cutting metal sheets to size

C) W WId Bt F18TS Bl & Sl U1 P! 81U F 3HR o b oY U 31 SR UG el o
/ Stakes are steel anvils that provide a solid base for shaping metal manually

D) W a BT IUAN T U ¥ YT & HIH & GRIF TATH ! 19+ & o fpan smar g /

Stakes are mainly used for measuring dimensions during metalworking

93.BTESIOH UUNS! B, fhy UHR &1 5d I yef Hfdd Jud & 971 2l (@@ 3ol Teror
ﬁﬁﬂ%ﬂaﬂ?ﬂ%?/ In a hydraulic system, which type of fluid coupling ensures torque
transmission without direct physical contact?

A) BTZ8Ifo® a0d / Hydraulic clutch
B) UIfSIfed & / Positive clutch

C) gif3i® 969 / Mechanical clutch

D) [aggada®id 94 / Electromagnetic clutch

94,789 WRR &1 B%iitl FIT8? / What is the purpose of a tinman's square?

A)dd dI-T / To scribe circles

B) SIUN &I HIUAT / To measure angles

O Jﬂ?réﬁmw / To measure thickness

D) TH®IUT & Fifed =T 3R ST / To mark and check right angles
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95. F 0 & 9 HH-It U1 Sro1g T o 8 SR fARIY U 9 eror ufeRiy &t sazadhal are
Wﬁﬁmﬂﬁﬁlﬁ 87 / Which of the following metals is considered non-ferrous

and typically used in applications requiring resistance to corrosion?

A)FTTEIT/ Copper B) W?ﬂ’eﬂ / Cast iron
C) Id / Steel D)ﬁ?ﬁl\T’?ﬁBT / Wrought iron

96.91¢ HIeT Wi & (AT H, fTas §U DI T HIa & AH B HH I3 & (o8 T ®0 4
DIF- UfghaT TS STt 82 / In manufacturing plain carbon steels, what is the main

process used to reduce carbon content in molten iron?

A) TS @mUrziide) / Annealing

B) cHIRAT/ Tempering

O IR (RMEA) / Quenching
D)m @W@TUT) / Decarburization

97. % Blg & UG &b JHT SORE 1 (@11 Heh) H T TR o™ &1 e Sz a1 87 /

What is the main purpose of adding limestone to the blast furnace during pig iron
production?

A) TS Tole & &Y H &1 BT / Act as reducing agent
B) H3Rdl H YUR / Improve hardness

@) 31'{[@@[@ W%Wﬁ gCIl / Remove impurities as slag
D) 3—@ DI dIUHT dglFT / Increase furnace temperature

98.9g XTI &1 U1 2 BT HH® ATHR 187 /

What is the standard size of a full sheet of mild steel?

A) 1220 7T x 2440 f# 7 1220 mm x 2440 mm
B) 1219 T x 2438 T / 1219 mm x 2438 mm
) 1500 THHT x 3000 fH#HT / 1500 mm x 3000 mm
D) 2000 &t x 4000 &t / 2000 mm x 4000 mm

99. RATH F DI Tt Mo AR & S I8 RIR i BrRe-RI & =9 & IuaiT & fag
UG T €, 3R J FaRIwan S & Hefe! &1 Hd 9gIdit 87/
What are the essential features of rivets that make them suitable for use as permanent
mechanical fasteners, and how do these features enhance the joint's strength?

A) AT B STARH ¢ BT SIS Te1 gl &, o I8 T M 8l ST & /
Rivets do not require installation tools, making them quick to apply

B) ATy e WIfRe® | &9 BId g, o 37T Hdl doi- HH g1 Offd § / Rivets are made
from lightweight plastic, reducing overall weight

C) Ay 3Tl BReR Bl €, o TRevd TS IR 3 ST ¥ e Sf ¥ehal § /
Rivets are temporary fasteners, allowing for easy removal if needed

D) ATy T ISR WM 3R Ham T RR ST 8, S Sis BT A I §¢IdT & / Rivets

have a cylindrical shaft and expanding head, which enhances joint strength

Page 19 of 33




100. T BTH & Ja &, g & § HH-T1 Yo 337 quH 3l 8 [ T aiRR ot yoredt &
IiA® &1 T fohd UHR ANIGH <dT 87 / In the context of mechanical advantage, which

of the following best describes how a washer contributes to the mechanical advantage
in a system?

A) BT Y <leh € GFFELUT) Cal m%/ Increases applied torque

B) Qﬁ%ﬁﬁ?{ g0 1 FHA1 8 / Reduces friction between parts
C)WWWQ’TW Wﬁﬁhﬁm%/ Distributes load to reduce pressure
D)‘Tﬂ?"ﬁﬁﬁ@’cﬂ%/ Enhances rotational speed

101. AR Ih TIg! o b ForafaT IR B Fv & o fohdt TR 1 WhoR Jad ST 872 /

Which type of scraper is best suited for working on internal curved surfaces, such as
bearings?

A) ToC THIR (JHTS WhWR) / Flat scraper
B) W@?‘W / Hook scraper

Q) 3-ME W / Half-round scraper
D)W@O—Cﬁ / Triangular scraper

102.f9 TR & aTZR BT IUTNT I R B! 93 &7 H Tyl & iR qieh 9= arat
Maﬁwaﬁ&rﬁrﬁaﬂﬁ%ﬁmﬁmw%nwmch type of washer is commonly

used to distribute the load over a larger area and prevent damage to the surface of the
material being fastened?

A)Fﬁ? GIEIRS / Lock washer B) tl%_c'avﬁR / Flat washer
o) BT aRR / Spring washer D)@ azR / Split washer

103.719 & FTH & THI WITHD I¢H!| B SWILR W@ I AT & (5T DIF-1 FHmior
SUBRUT W@ﬂaﬂ%’? / Which erection tool is best suited for checking the vertical
alignment of structural components during foundation work?

A)SIER / Crowbar B) ke &a@ / Spirit level
C)Wd §ld / Plumb bob D) Yot sl / Pulley block

104. 919 Tt aq 1 IS T 38 & S9ad a6 IR Yafid a1 orar g @ iy UeR &1
Y& TIRT fohar G’HT%? / What type of projection is used when the object is projected
onto a plane perpendicular to its principal axis?

A)Hﬂfﬁ?ﬂHUEPFCI'UT/ Isometric projection
B) B UM U&YTUT / Orthographic projection
C) aikuied wayur / Perspective projection
D) 31&fHfde® W&TTT / Axonometric projection

105. 7% R Re® &1 37 3/ UTd 4 : 1 €1 f 39YL A1 120 rpm ©, @l rpm | 3HT3CYE IS
FATB?/A gear system has a velocity ratio of 4 : 1. If the input speed is 120 rpm, what is
the output speed in rpm?

A)30 rpm B) 40 rpm
C) 60 rpm D) 80 rpm
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106. f3a ey faftrs SHRY & Iuas €, 3R WLt SHTHR BT I8 B Hgayuf g1 37y fomdt
fafRIy 3o 3 e I f3a 3R &1 Fefke & & € 3R svan uRumH! & g
WWWWWWW%W / Drill bits are available in various sizes, and
selecting the right size is crucial. How do you determine the correct drill size for a
specific application, and what factors should be considered for optimal results?

A) JTG HHR Hae SFTH TRUTHT & ST / Available sizes only for optimal results
B) f$® @t M a1t Arht Fhae syaw Ukl & fou /
Material being drilled only for optimal results
C) fg® 729 &1 YR SHae 3yad gRumHl & o /
Type of drill machine only for optimal results
D) & BT HTHR, T 3R ST PR 3¥ad IR & 5T /

Hole size, material, and available sizes for optimal results

107. %= I8 & IdTG & [OU BRE By (@reT Hgh) Ufehar & Y & ¥ S1H-91 el IS
WH’&&%? / Which of the following raw materials is NOT required in the blast
furnace process for producing pig iron?

A)BF / Coke B) B 3D / Iron ore
C) 3egHI==a® / Aluminium D) AT URR / Limestone

108. %< R SR HUSE Btavel R & aitd T SR 1 8? /
What is the main difference between straight snips and compound leverage snips?
A)QEWE@@%% / Straight snips are larger
B) Q%;ai%rrﬂﬁ AP ESP B § / Straight snips have offset handles
) HUNSS Sravel AT & 1 T BT =T ehdl Bt § /
Compound leverage snips require less effort
D) PSS Blave Ry H gldeR S gId &/
Compound leverage snips have serrated blades
109.97¢ 'm' farmT/Hier & deT 184 &1 2ATad AR B & (U P BT YRS d-1d faar Srar
&, 1 Sy fd TRl & T dee o1 35ad o (v) Fafefad # 3 o dey gRT ved
3501 SITAT 87 / I a belt drive of 'm' kg/meter is given an initial tension of P to transmit

power, then the optimum velocity (v) of the belt for maximum power transmission is
provided by which of the following relationships?

N _[F 8) ,_ P
V= am am
O v=+/Pm )v=3Pm
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110. Fafarsit 3R URdTg AFE SR A V- & A & AFGIHd [l 8| B8 gf-are Ut
8. Z A B, C, D 3R E 5% v-awe & ol shig-de=M & fou Fidy fear mn g1 e-d=m
aﬁrﬁﬁﬂfﬁ@ﬂ%w%? / The manufacturers and the Bureau of Indian Standards have
standardized the dimensions of the V-belts.

There are six basic symbols: Z, A, B, C, D and E are assigned for different cross-sections
of V-belts. What is the pitch width of the E-section belt?

A)27 B /27 mm B) 8.5 fHt /8.5 mm
o 19 {19 mm D)32 fidt /32 mm

111. fypzH ¥ faftd UeR & o1g SiS), S 9 SIS, & S8 3R Bi-R SIS &7 SUdIT fbar
ST 81 30 Siie &1 e fa=IvaTd o1 § SR 39T qrad: SUdnT o4 far Sirdr 82 /
Different types of metal joints, like butt joints, lap joints, and corner joints, are used in
fabrication. What are the main features of a lap joint, and why is it commonly used?

A) & THS! DI 3NaRGY (M) BT §, WA HAT M § /

Overlaps two pieces, easy to align

B) §S UdE &7 & U 3Nave T &l §, Aolgd 3R fRR /
Overlaps for larger surface area, strong and stable

C) G WE@UI B} azgehdl Bl g, Ao s Hida gare /

Requires precise alignment, difficult to fabricate

D)%F'Yﬂ\_rﬂ@l?.r ékﬁm WWW%/ Used only for decoration

112. B1-0 o1q U Ip P FRAITAT & T ot St 8 SR ST SUART WrHTd: S &
Iadre H fasaT ST 82 / Which metal is known for its excellent machinability and is
commonly used in the production of gauges?

A) ST / Steel B) Sl BIgT / Pig iron
C)W’f?‘ﬁ_ﬂ/ Cast iron D)ﬁ?ﬁf?ﬁﬁ/ Wrought iron

113. e &1 Uforan & T U HUIST Hel H THFId: HIF-T argar AT §H1E 3@ St

87/ What is the typical temperature range maintained in a cupola furnace during the
melting process?

A)800 - 900°C B) 1000 - 1100°C
C) 1200 - 1300°C D) 1500 - 1600°C

114. WIS YR R IR-SRAISTS (oa Frfiepufia) HeR & e & fou feg
%W%WWG’WWW% / Which dustbin colour code is utilized for the

disposal of plastic wrappers and non-biodegradable waste?

A) BT® HSIGH / Red dustbin B) ~1&T ®SI&M / Blue dustbin
C) e[ pSlald / Green dustbin D)m?ﬂ PSTal / Yellow dustbin

115.20e yig & & g% T & fou ffdw Az e gz

What is the typical specification for hand grooves in sheet metal work?

A)0.5 Bl TT8R1 /7 0.5 mm deep B) 1 f&H T8R0T/ 1 mm deep
C)10ﬁ|’1ﬂ"|%?[/10mmdeep D)Z—SWTIERT/Z—Smmdeep
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116. Fafld SMUTAPTS A 3Ry 3R UfR1&T fbd YR HHaTial &1 arafde smard fufadl &
TUTdT & 3§ Ufdfoar s & Tge Hd 82 / In which manner do regular emergency drills
and training help employees respond effectively in real emergencies?

A):ﬁwgﬁﬁf@w / Increase job satisfaction

B) MUy &l HH HIh / Reduce emergencies

C) ARG e & GUR dXdb / Improve physical fitness
D)WWW / Enhance response skills

117.9R-SEQ 1S T% B go-T H dF9-91ds d1¢ I BT ITINT 6 &1 & TH T 8?7 /
What is a key advantage of using a three-jaw chuck compared to a four-jaw chuck?
A) 3 ORI 9@ U BT & / Provides higher clamping force
B) dW 3R Y3y B | 3T / Quicker and easier to set up
Q) GIEI@ BT W JHRSH UG / Allows independent jaw adjustment
D) 3= tlﬁ'{l,@?ﬂ & 1Y FHU BT 4RO HAT / Holds workpieces with higher precision

118. WA VAN & foT TegHiad ot Aeiecd! M /g 39 IMHIa: HH-31 fHigia
dcd ForeTaT ST 872 / Which alloying element is commonly added to aluminium to
increase its strength for structural applications?

A) ST / Zinc B) dfeT / Copper
C) %@ / Nickel D) ShIFH / Chromium

119, TRIUY ITNT & TegHIoH &1 Uil fGU S &1 87 SR 187 /
What is the main reason aluminium is favoured in the aerospace industry?
A) ShH¥ Z1fad & 91U I 9 / High density with excellent strength
B) 3 &I 3R SAIGIUA / High melting point and ductility

C) HSIgd aoi SfUTd & 91 99 U= / Low density with strong weight ratio
D) T&RUT UfeRIeY, Il / Corrosion resistance, conductivity

120. 99 fHARY 3R GRa<! Tl ¥ Fued Wd g UHR & Gx Ug-- a1feu? /

When dealing with sharp edges and rough materials, what type of gloves should be
worn?

A) WIRE / Plastic

B) ¥dS / Rubber

C) bl hUNY / Lightweight cotton

D) IHST IT HIeT HYST / Leather or thick fabric

121. FoafeRed & 3 1 & feer-HifT ufcar ar SH1d deb-ie g7 /
Which of the following film-coating processes is a vapour deposition technique?
A) ST TabrRll / Wet etching
B) WW/ Magnetron sputtering
Q) WQ?@%"T/ Porcelain enamelling
D) UIg 3HTdRUT / Metal cladding
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122. 91uftres fifren & Ted & 39 won & fou Srzifd SuaR o1 8 o &16 iR g&-1 §
%ﬁﬂquﬁm%? / In the context of first aid, what is the recommended

treatment for a burn that is red and painful but does NOT blister?

A) TR TT d& ST / Apply butter or oil

B) ﬂ;@é@iﬂ@faﬁ?/ Cover with dry dressing
Q) e 9% ST/ Apply ice directly
D)B@tﬂ:ﬁﬁgﬁﬁ'q/ Immerse in cold water

123 yae fgve f3@ (RISt au) & fou A fog o @ ], 3iR g sivr figfem
(q%rsm DI HY gHIfad B %? / What is the standard point angle for a general-purpose
twist drill, and how does this angle affect drilling?

A) 60°, R Tt & fT Suged & /
60°, suitable for soft materials
B) 90°, Tl 3T & fou 3mezf g /
90°, ideal for precision drilling
C) 118°, HTe 3R fou gem H Ugod a1 g /
118°, balancing cutting and chip removal
D) 135°, e 1 Gafdl | 3G Hrar g /

135°, enhancing cutting efficiency

124. Fgfofad 7 A I A ufhar § e fbu oM 16 4T (S B & U H 191 Il 5)
3R TS Il & ot Sft dieest BT Sy A BT 8, S A1 dl We Bl o arat g
B € I1 U A10dh SoaIeRe &I U # Uh fAftrg Sodeis 8Ia1 82 / Which of the
following processes involves an application of DC voltage between the parts to be
plated (that is made as a cathode) and an anode material, that is either the metal to be
plated or an inert electrode in the presence of a conductive electrolyte?

A) 3@@@)‘%’[ (ﬁ?{lﬂ@fq:l) / Electroplating

B) ﬁﬁtﬂiﬁrﬂ / Galvanizing

C) TSRS (YRR / Anodizing

D)3daciod WicT (fdggdeie &) / Electroless plating

125799 & 9 g ufohan & A1 4 Iafed U1 $1 U@ JOTeH HH-91 87 / Which of the

following is a key property of the metal produced through the puddling process?

A) 3= FAISTUA / High ductility

B) 3= HIRT / High brittleness

C) f% &% / Low melting point

D) 3 H&RUT UfcRTY / High corrosion resistance
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126. FafeRad & T o9 T Idg J=NYF db-1e & Ueh I TR 1 RS HIegH H I
eI & U | ST AT 82 / Which of the following surface modification

techniques consists of exposing the component to nascent nitrogen in a gaseous or
liquid medium?

A)FSH B ST/ Flame hardening B) CARNEID / Carburizing

(@K IFWE! ST/ Nitriding D) eI / Tempering

127.U faR0 AISHIHICR 3R dt-HTHR & TGS BT STANT IR [HY a8t T IS WRIHCR B
HTUT ST Wl 82 / Which outside screw thread parameter can be measured using a
special micrometre and V-shaped anvils?

A) D o€ &I fUd / Pitch of screw thread

B) &b XS &I II'I'H\??[ I / Minor diameter of screw thread
C)¥p XS Bl H¥ Y / Major diameter of screw thread
D)%&h oS DI UHTA! AN / Effective diameter of screw thread

128. DIH-3T 2Teg; HTF Y W W fgait & o o1 g8 &1 aul wvar &, ok ¥ o1er &
FHMIAR AT ST 87 / What term describes the distance between corresponding points
on adjacent threads, measured parallel to the screw axis?

A)BIS / Lead B) {1 / Pitch
C) SV (TEXTS) / Depth D) STaHIeR (M) / Diameter

129. QR&M 3R & YHARad B & foT afcET IuHRU &1 X@vEra Ag@yul 8| awex BI 3t
AFET A2 3R TgTIh JUHRYT &1 3¥aH U F 3@ & e o v vewara gursit
B UTG AT AMRU? / Welding equipment maintenance is crucial for ensuring safety
and efficiency. What are some key maintenance practices that welders should follow to
keep their welding machines and accessories in optimal condition?

A) ST IUHRUT T Fafird FE0T SR TWwTs &%, &ftRd Hao! Bt offd Y IR 3
Wﬁﬁ%ﬁﬁ/ Regularly inspect and clean the welding equipment, check for
damaged cables, and ensure proper storage

B) IUHRUT &1 IWRWd Hde dHl B Td 98 ¢ ST AT GRHT &I & /

Only maintain the equipment when it breaks or seems obsolete

C) forsit 1t IUTS YBTE UIe BT START B / Use any available cleaning solution
D) JUHRUI B! ge-Te WR & A ¢ 3R I8 Faftg Iuam & fou v /

Ignore equipment wear and tear and keep it for regular use

130. TH T Ufehan & Ty, I U J WhU Bt TS ST T8 & fou ufd avf Sa guds fagait
DI TS T T 8? / During the scraping process, what is the ideal number of contact
points per square inch for a properly scraped bearing surface?

A)5-10 ﬁguﬁaﬁs%r/ 5 - 10 points per square inch

B) 10 - zoﬁﬁguﬁraﬁs‘a/ 10 - 20 points per square inch
) 20-30 %guﬁaﬁs‘%r/ 20 - 30 points per square inch
D)30 - 40 %@Uﬁa‘f'{ﬂ/ 30 - 40 points per square inch
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131. 79 yeR @t 2fie U1 397 Beh YR 3R I FfAd-V-HR U & foT St St 82 /
Which type of sheet metal is known for its lightweight and high strength-to-weight
ratio?

A)Tﬂ?ﬁ'? / Brass

B)HTEIT / Copper

@) &I?\T:ﬁﬁm:[/Aluminium

D) NeaI3es (STiiepd) WIS / Galvanized steel

132. {5 feueR ! fufar & Feai J et SFYANT 8q See &1 70 IR & [T g &
IR H Fafofed & ¥ 3H @ THSRT $1a=ds 57
DR SEISEEIIEIGS]
(i) 3TYC 31R 3MT3eYe TS
(iii) el & &g g 1 g8
(iv) YR ®T UhR /
For a designer to select a belt for an application from the manufacturer's catalogue,
which of the following information about the belt is required?
(i) Power to be transmitted
(ii) The input and output speeds
(iii) The centre distance between the pulleys
(iv) Type of load

A) %3S (i) 3R (jii) 3a=T® 8 / Only (i) and (iii) are required

B) Hd (i) 3R (ii) ATIZTH & / Only (i) and (ii) are required

C) B (jii) 3R (iv) 3ATIZTH § | / Only (iii) and (iv) are required
D) et 3TaZTF g1 / All are required

133.88 MR &1 HH-T1 UFT 0 U § B¢ & ATeAH ¥ 39 ATfeziq a1 3R I T
gﬁrﬁaaﬂﬁ%mﬁ?‘mﬁ% / Which part of a hand reamer is primarily responsible

for guiding it through the hole and ensuring proper alignment?

A)UIgaC / Pilot B) UQC / Flute
C)fl'il'? / Shank D) ST TS / Cutting edge

134. ¥R o o1 98 T fa2ivdT 1 § S 3 o o] & 317 ot 67/

What is a key characteristic of spur gears that differentiates them from other gears?

A)‘ZI;Uﬁ 3{& & IV IR Gid DI HTH / Teeth cut at an angle to the axis of rotation
B) TIfd 1 fazT deo & fou Iua frar Srar g /

Used to change the direction of motion
C) ol 31&f & JHMIAR 1Y A / Straight teeth parallel to the axis of rotation
D) R-JAFR Y J A6 / Operate non-concurrently
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135, fot & @Y SAER, WRIE (1Y) W AT HHR B HA-axg3l DI Udhe & v [y
UHR T dP qad B'CREI,T:R’T%? / Which type of chuck is best suited for holding irregularly
shaped workpieces on a lathe as shown in figure?

Hifes 9& / BRI TF /
Magnetic Chuck Four Jaw Chuck Three Jaw Chuck

A) PISC TD / Collet chuck

B) BR-SIl I / Four-jaw chuck
Q) M-S g / Three-jaw chuck
D) Mfed T / Magnetic chuck

136. FEfREd & 9 oF W urg 318 & Tea-iiaRul § Afhthre THe (@@l tHe) & ®u §
JUTNT &Y STl 82 / Which of the following metals is used as a sacrificial anode in
galvanization of iron?

A) ST (ﬁlﬁ / Zinc B) GIE]] (WV'CIT) / Copper
C) e / Carbon D) Rif&aT / Silicon

137.Fg A 9 smarfig faggd A9 & foT IR dieds TR SH-A17? /

Which of the following is a common voltage level for residential electrical mains?

A)110 Qe /110 V B) 220 dice / 220 V
C)320 @l /320 V D) 440 dice / 440 V

138.2ftc U1 &1 H TS &1 UTIfw &1l |1 82 /
What is the primary function of a trammel in sheet metal work?
A) HITS HIUAT / Measure thickness
B) E%ETC[ ﬁﬁﬁ%ﬁm / Mark large arcs and circles

Q) ?ﬁiﬁ’{{q’rﬁm / Cut straight lines
D) T &1 dTa< AT/ Bend metal sheets
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139, 3ET BT H, TR BT ITANT UIT: AfET IUBRUN & 1Y fHar e g1 A fosret
3Tfci & o AfeSTT SIReR BT JUINT I BT T G1H F1 5, [T =0 I =y a1 9168

e d? /In welding operations, generators are often used in conjunction with welding
equipment. What is the main advantage of using a welding generator instead of a
standard power supply, particularly in remote or outdoor settings?

A) T8 U TICE0 Sl did UG BT § o [agyd FIs ¥ Wdd &9 3 Y=nferd g Ibdi g /
It provides a portable power source that can operate independently of the electrical
grid

B) U8 URUR® faoiat amyfef & &1 o 1 A glar g /

It is less expensive as compared to traditional power supplies
C) I8 1o & IHT HH 2R I4d Bl g /It produces less noise during operation

D)@W i e B Wﬁ@?ﬁ%/ It requires no maintenance at all

140. AR ATSHIICR BT ITANT HRb H a¥d B! HU THT, TWid R A&7 7.5 fieft gt 3,
3R frae 13 f&dioM fe@mar g1 sifaw Amg =1 82 / When measuring an object using a

vernier micrometre, the reading on the sleeve is 7.5 mm, and the thimble shows 13
divisions. What is the final measurement?

A)7.53 fHt / 7.53 mm B) 7.63 fHt / 7.63 mm
C)7.65 fiHt / 7.65 mm D)7.70 fi#t / 7.70 mm

141. 9@ R & SRS RR® U & Ty § Fuidfad § ¥ oF o1 o3 e T8t 87 /
Which of the following is NOT TRUE with regards to hydrostatic lubrication of journal
bearings?

A) TRSRLICH G s oMo [l &I S18<t qaragad faaiey ot HeTsmar gl /
Hydrostatic lubricated journal bearings are also called externally pressurized bearings

B) BT grefed faufg & W-frarite faafg Wt serSmar g1/
Hydrostatic bearings are also called self-acting bearings

C) TRERCICH Gl RReH 10 TG (AN 30 SRS ISRHNNG THHEN ! go-l
TEN B €1/ Journal bearings with hydrostatic lubricated systems are costlier than
their hydrodynamic counterparts

D) eRs e foufirg ® uRfires oefur =gt gYari /

Hydrostatic bearings don't possess starting friction

142.150 foreft forer oy 91T Was AR 300 et firer oy aros g R & ary AfRfT v T@T 8|
R Rew &1 a7 &HCI'IHHIIT%? / A gear with a pitch diameter of 150 mm is meshing
with another gear with a pitch diameter of 300 mm. What is the velocity ratio of the
gear system?

A)1:2 B)2:1
01:3 D)3:1
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143, FEfoREd & ¥ H1F W S IUER Ufssan & 41g B 37 Hifdd argqT deb TH T Sl
8 YT Y O6/arg I 06 | doit ° G871 fodT ST 82 / Which of the following heat

treatment processes consists of heating a metal to its critical temperature and rapidly
cooling it in water/air or oil?

A)?ITCﬂﬂTﬁEF-T (@IS ) / Annealing B) ¢TI / Tempering
Q) Arde '5II§I,‘J / Normalizing D)MHA @%ITD / Quenching

144.T% WdF IR-9FS IS TP B [UFS! We P RAWAG & fou g ufsar a1 g2 /
What is a common procedure for maintaining the back plate of an independent four-
jaw chuck?

A) JIE 164 & ot affd U 3§ Sas] &l fad-r o /
Regularly lubricate the jaws for smooth operation

B) STId ARSI (R & forw WRaor st &t St $Y 3R 378 ol BN /
Check and correct alignment issues for proper mounting

C) A &l §eH & foU gyureRT Uerdf I 91 &Y /

Clean with abrasive materials to remove debris
D) eITd &1 b & 6T IHI-91T | YHIU / Rotate periodically to prevent wear

145,70 ¢o 3R Wifos ¢o & 19 T8 &1 IdTE G&dT IR FT UG USdl 87 / How does the
choice between a tipped tool and a solid tool impact production efficiency?

A) TGS go 91t aTeT § oW IdTe &HdT UaH ad & /
Solid tools provide faster production efficiency in all cases

B) UMeS T& & g1 H ot o &I 31fidh IR g &1 ATazaHhdT gidl § /
Tipped tools require more frequent tool changes than solid tools

0) fets ¢o aRd iadfRd Ul % BRT 3ifie gardI YeH A & /
Tipped tools offer faster efficiency due to quick insert replacement

D)fets ¢o IR ifes ¢ & 9 gardl | B Heayuf iR Tel § /

No significant difference in efficiency between tipped and solid tools

146. 4TgeH B TS ufthan &1 urufties Iz Ay # ¥ HH-a18? /
Which of the following is the primary purpose of the puddling process in metallurgy?
A) T YTId LTI d-THl / To create alloyed steel

B) NI U@Gﬁaﬁﬂ&'m/To purify non-ferrous metals
oW H CACREARCIE| delHl / Increase carbon content in steel

D) GRI@ZI}[ DI G D BIg Dl tlﬁ'%_d DT / Refine cast iron by removing impurities
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147 .9 $15d B Ugad see Ugrd &1 afoRad & 9§ o1F a1 ais-ia o g2 /

Which of the following is a desirable property of a belt material used in a belt drive?

A) € Terd H got & A1y gy $T I[UNd HH g1 a1ey /

The belt material should have low coefficient of friction with the pulleys
B) See U # 3= a1 I gt =iy /

The belt material should have a high tensile strength
C) see gerd d %A g wfRiy g1 =nfgu /

The belt material should have low wear resistance

D) ¥ Ufda® U g9 & foT dec g €¢ g1 a1fgl /

The belt material should be rigid to avoid bending stresses

148, Tif TSI H AR BT SUIN Hd JHY FifAh STH U R & foT Framaa: fod fafd
WM‘TWW%? / Which method is commonly used to obtain mechanical
advantage when using washers in mechanical assemblies?

A)Wﬁmm / Increase the number of washers

B) 3SI-3{BT HIeTg & aIZR &1 STIRT HRAT / Use washers of varying thickness
C) 98 N d161 AR YA HRAT / Employ a larger diameter washer

D) faftrsr geref & arzR o1 IUTRT BT / Use washers of different materials

149.BTESNo® Flhe N Ude-Tarfod I dled Bt 3T YfHdHT 82 /
What is the role of a pilot-operated check valve in a hydraulic circuit?

A) RieH a1 99T [GHT / To maintain system pressure
B) UaTg f&=M &1 fFfAd %A1/ To control the flow direction
C) G919 BT 8 & SHYS! (WadTg) B AbT /

Prevent backflow until pressure is applied

D)QH%[EE# (qa?fa?) 3t 71 I fAfafed &A1/ To regulate the speed of actuators
150. G & Q D1F-11 GR&f IUSHR faggd gonfeat §f y-aret 3 gRefm & oy fEeme fear mar

87 / Which of the following safety devices is designed to protect against ground faults
in electrical systems?

A) RS / Fuse
B) Iof greder / Surge Protector

C)Eﬁﬁfaﬁ / Circuit Breaker
D) T3S Wiee Afhe $eER (GFCI) / Ground Fault Circuit Interrupter (GFCI)
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[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question Booklet and

the Answer Sheet before commencement of the test.

2. The duration of the test is 2 Hour. There are 150 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.
This booklet contains 32 Pages. Please check for completeness of the Question Booklet
immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be marked
on the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely, corresponding
to (A), (B), (C) or (D) against the relevant question number.

8. Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read such
marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once darkened
cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be
provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator. Use
your best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature
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(MFI) Attendant Gr-1 (Mech)- Fitter - Version B

Question Answer Question Answer Question Answer
No keys No keys No keys
1 C 51 C 101 C
2 C 52 B 102 B
3 B 53 C 103 C
4 B 54 D 104 B
5 D 55 B 105 A
6 A 56 A 106 D
7 D 57 D 107 C
8 D 58 B 108 C
9 B 59 D 109 A
10 D 60 B 110 D
11 B 61 A 111 B
12 A 62 C 112 A
13 A 63 C 113 D
14 C 64 C 114 B
15 C 65 A 115 D
16 A 66 B 116 D
17 D 67 D 117 B
18 D 68 B 118 B
19 A 69 B 119 C
20 C 70 A 120 D
21 D 71 C 121 B
22 D 72 D 122 D
23 B 73 B 123 C
24 B 74 A 124 A
25 D 75 A 125 A
26 A 76 D 126 C
27 C 77 A 127 D
28 A 78 A 128 B
29 A 79 D 129 A
30 C 80 C 130 C
31 C 81 A 131 C
32 A 82 D 132 D
33 D 83 D 133 A
34 C 84 B 134 C
35 C 85 B 135 B
36 B 86 B 136 A
37 A 87 A 137 B
38 C 88 B 138 B
39 D 89 C 139 A
40 A 90 D 140 B
41 C 91 D 141 B
42 C 92 C 142 B
43 A 93 A 143 D
44 B 94 D 144 B
45 B 95 A 145 C
46 D 96 D 146 D
47 B 97 C 147 B
48 D 98 B 148 C
49 C 99 D 149 C
50 A 100 C 150 D
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